
Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

cos 0 = et sin 0 =

cos
−2π

3
= et sin

−2π

3
=

Si z = a+ ib, alors θ = arg(z) vérifie cos θ =

An
p =

Si X ∼P(λ), alors X(Ω) =

Si X ∼ B(n, p), alors p(X=k) =

Si X ∼H (N, n, p), alors E(X) =

Si X ∼ G (p), alors V (X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

cos
−5π

6
= et sin

−5π

6
=

cosπ = et sin π =

Si z = a+ ib, alors ρ = |z| =

Si X ∼ G (p), alors X(Ω) =

Si X ∼H (N, n, p), alors max(X(Ω)) =

Si X ∼H (N, n, p), alors p(X=k) =

Si X ∼ B(n, p), alors E(X) =

Si X ∼P(λ), alors V (X) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors θ = arg(z) vérifie sin θ =

cos
π

6
= et sin

π

6
=

cos
−π
2

= et sin
−π
2

=

Cp
n =

Si X ∼ G (p), alors X(Ω) =

Si X ∼P(λ), alors p(X=k) =

Si X ∼ B(n, p), alors E(X) =

Si X ∼H (N, n, p), alors V (X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors θ = arg(z) vérifie cos θ =

cos
−π
6

= et sin
−π
6

=

cos
π

2
= et sin

π

2
=

Si X ∼ B(n, p), alors X(Ω) =

Si X ∼H (N, n, p), alors min(X(Ω)) =

Si X ∼ G (p), alors p(X=k) =

Si X ∼P(λ), alors E(X) =

Si X ∼H (N, n, p), alors V (X) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors ρ = |z| =

cos
π

4
= et sin

π

4
=

cos
−π
6

= et sin
−π
6

=

An
p =

Si X ∼H (N, n, p), alors max(X(Ω)) =

Si X ∼ G (p), alors p(X=k) =

Si X ∼P(λ), alors E(X) =

Si X ∼ B(n, p), alors V (X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

cos
−π
4

= et sin
−π
4

=

cos
2π

3
= et sin

2π

3
=

Si z = a+ ib, alors θ = arg(z) vérifie sin θ =

Cp
n =

Si X ∼P(λ), alors X(Ω) =

Si X ∼ B(n, p), alors p(X=k) =

Si X ∼H (N, n, p), alors E(X) =

Si X ∼ G (p), alors V (X) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

cos
π

3
= et sin

π

3
=

cos
−π
4

= et sin
−π
4

=

Si z = a+ ib, alors θ = arg(z) vérifie cos θ =

Si X ∼ B(n, p), alors X(Ω) =

Si X ∼H (N, n, p), alors max(X(Ω)) =

Si X ∼H (N, n, p), alors p(X=k) =

Si X ∼ G (p), alors E(X) =

Si X ∼P(λ), alors V (X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors ρ = |z| =

cos
−π
3

= et sin
−π
3

=

cosπ = et sin π =

Si X ∼P(λ), alors X(Ω) =

Si X ∼H (N, n, p), alors min(X(Ω)) =

Si X ∼ G (p), alors p(X=k) =

Si X ∼ B(n, p), alors E(X) =

Si X ∼H (N, n, p), alors V (X) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors θ = arg(z) vérifie sin θ =

cos
π

2
= et sin

π

2
=

cos
−3π

4
= et sin

−3π

4
=

An
p =

Si X ∼P(λ), alors p(X=k) =

Si X ∼ B(n, p), alors X(Ω) =

Si X ∼H (N, n, p), alors V (X) =

Si X ∼ G (p), alors E(X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors θ = arg(z) vérifie cos θ =

cos
−π
2

= et sin
−π
2

=

cos
π

4
= et sin

π

4
=

Si X ∼ B(n, p), alors V (X) =

Si X ∼P(λ), alors E(X) =

Si X ∼ G (p), alors X(Ω) =

Si X ∼H (N, n, p), alors min(X(Ω)) =

Si X ∼H (N, n, p), alors p(X=k) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors ρ = |z| =

cos
2π

3
= et sin

2π

3
=

cos 0 = et sin 0 =

Cp
n =

Si X ∼ G (p), alors p(X=k) =

Si X ∼P(λ), alors X(Ω) =

Si X ∼ B(n, p), alors V (X) =

Si X ∼H (N, n, p), alors E(X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

cos
−2π

3
= et sin

−2π

3
=

cos
π

6
= et sin

π

6
=

Si z = a+ ib, alors θ = arg(z) vérifie sin θ =

An
p =

Si X ∼ B(n, p), alors p(X=k) =

Si X ∼ G (p), alors X(Ω) =

Si X ∼P(λ), alors V (X) =

Si X ∼H (N, n, p), alors E(X) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

cos
3π

4
= et sin

3π

4
=

cos
π

3
= et sin

π

3
=

Si z = a+ ib, alors θ = arg(z) vérifie cos θ =

An
p =

Si X ∼P(λ), alors p(X=k) =

Si X ∼ B(n, p), alors X(Ω) =

Si X ∼H (N, n, p), alors V (X) =

Si X ∼ G (p), alors E(X) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors ρ = |z| =

cos
−3π

4
= et sin

−3π

4
=

cos
5π

6
= et sin

5π

6
=

Si X ∼H (N, n, p), alors max(X(Ω)) =

Si X ∼P(λ), alors p(X=k) =

Si X ∼ B(n, p), alors X(Ω) =

Si X ∼H (N, n, p), alors V (X) =

Si X ∼ G (p), alors E(X) =



Enon
cé

type

Enon
cé

type

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors θ = arg(z) vérifie sin θ =

cos
5π

6
= et sin

5π

6
=

cos
−π
3

= et sin
−π
3

=

Cp
n =

Si X ∼ G (p), alors V (X) =

Si X ∼P(λ), alors E(X) =

Si X ∼ B(n, p), alors X(Ω) =

Si X ∼H (N, n, p), alors p(X=k) =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

Si z = a+ ib, alors θ = arg(z) vérifie cos θ =

cos
−5π

6
= et sin

−5π

6
=

cos
3π

4
= et sin

3π

4
=

Si X ∼H (N, n, p), alors min(X(Ω)) =

Si X ∼P(λ), alors p(X=k) =

Si X ∼ G (p), alors X(Ω) =

Si X ∼ B(n, p), alors V (X) =

Si X ∼H (N, n, p), alors E(X) =


